BIRENH

clear;

clc;

uX=1;uT=1;M=10;N=100;

phi=Q (x)sin (pi*x) ;psil=Q@(t)0;psi2=@ (t)0;

c =1;

sTHEDK

dx=uX/M; %x [FP 4

dt=uT/N; st 2K

x=(0:M) *dx;

t=(0:N) *dt;

r=C*dt/dx/dx; KLk

rl=1-2*r;

if r > 0.5
disp('r > 0.5, MfaE")

end

STHRAME AL E

U=zeros (M+1,N+1) ;

for i=1:M+1
U(i,1)=phi(x(1i));

end

for j=1:N+1
U(l,J)=psil(t(J));
U(M+1,3)=psi2(t(3));

end

SEERM

for j=1:N
for 1i=2:M

U(i,3+1)=r*U(i-1,73)+r1*U(i,3)+r*U(i+1,7);

end

end

Uu=u"';

1kt Bl

figure;

mesh (t,x,U");

title ("L

xlabel ("ML ")

ylabel (" ZF[AAFE x')

zlabel (' —#4ERVL FITIRMIM U)



